Questions

1. Why do companies invest in the securities of other enterprises?

2. Distinguish between debt and equity securities.

3. How can a debt investment be classified? An equity investment? How should each category be accounted for?

4. What criteria must be met for an investment to be classified as held-to-maturity? Trading? Available-for-sale?

5. Why are held-to-maturity investment carried at amortized cost but available-for-sale and trading investments carried at market value?

6. What is the difficulty encountered in relying on management intent as a classification criteria? 

7. What factors indicate that significant influence may be present between an investor and an investee? How would such an investment be reported?

8. What factors indicate that control exists between an investor and an investee? How would such an investment be reported?

9. It is often said that an investor with 20% of the voting shares of another company has significant influence, and an investor with 50% has control. Is this always true?

10. What is the distinguishing feature of a joint venture? How are joint ventures accounted for?

11. How is fair value estimated?

12. On 1 August 20X4, Baker Company purchased $50,000 face amount of Sugar Company 6% coupon value bonds for $43,200. The market interest rate was 8% on this date. The bond pays interest semi-annually on 31 July and 31 January. At the fiscal year-end for Baker, the bonds have a market value of $45,000. Show the journal entries (a) to record the investment and (b) to record investment income and any other needed adjustments at 31 December. The investment is classified as held-to-maturity.

13. When is it permissible to use straight-line amortization of a discount or premium on a held-to-maturity investment? Explain.

14. Under what circumstances is it GAAP to account for a significant influence investment using the cost method? Explain.

15. An investor purchased 100 shares of Zenics at $20 per share on 15 March 20X4. At the end of the 20X4 accounting period, 31 December 20X4, the stock was quoted at $19 per share. On 5 June 20X5, the investor sold the stock for $22 per share. Assuming this investment is available-for-sale, give the journal entry to be made at each of the following dates:

a. 15 March 20X4

b. 31 December 20X4

c. 5 June 20X5

16. What conditions may indicate that the value of an investment has been impaired? How is an impairment accounted for if the investment is held-to-maturity? Available-for-sale? Trading?

17. On 31 December 20X1, ABC Company owned 10,000 shares of A Company, with a cost of $23 per share and a market value of $24 per share. At the end of 20X2, the market value was $28 per share. The investment was sold in 20X3 at $30 per share. The investment is classified as available-for-sale. What would be included in other comprehensive income and net income in each of 20X1, 20X2 and 20X3?

18. On 31 December 20X1, XYZ Company owned 10,000 shares of B Company, with a cost of $21 per share and a market value of $26 per share. At the end of 20X2, the market value was $29 per share. The investment was sold in 20X3 at $33 per share. The investment is classified as a trading investment. What would be included in other comprehensive income and net income in each of 20X1, 20X2 and 20X3?

19. The 31 December 20X3 balance sheet shows available-for-sale investments at $456,800, and cumulative other comprehensive income at $169,000. Interpret these two values. At what amount were the investments originally purchased?

20. An available for sale investments is carried at $550,000, and there is a cumulative gain of $35,000 recorded in other comprehensive income. The investment is sold for $520,000. What gain or loss in included in net income because of the sale? What amount is included in this year’s other comprehensive income because of the sale? Explain.

21. On 1 July 20X2, a company bought an investment in IBM bonds for U.S. $50,000 when the exchange rate was U.S. $1 = Cdn. $1.32. The investment is classified as available-for-sale. The company paid cash on the acquisition date. At 31 December, the exchange rate was U.S. $1 = Cdn. $1.38. The market value was still $50,000 U.S. Prepare journal entries to record the purchase of shares and any adjusting entries at year-end.

22. Assume that Company R acquired, as a long-term investment, 30% of the outstanding voting common shares of Company S at a cash cost of $100,000. At the date of acquisition, the balance sheet of Company S showed total shareholders’ equity of $250,000. The market value of the depreciable assets of Company S was $20,000 greater than their net book value at date of R’s acquisition. Compute goodwill purchased, if any.

23. Assume the same facts as in Q11-22, with the addition that net assets that were undervalued at acquisition have a remaining estimated life of 10 years (assume no residual value and straight-line depreciation). There is no goodwill impairment. How much investment revenue would Company R report using the equity method if Company S reported $80,000 of net income?

24. Investor Ltd. owns 35% of Machines Ltd, and has significant influence. The investment was made five years ago, when Machine’s fair values equaled book values; $40,000 of goodwill was inherent in the purchase price. In the current fiscal year, Machines reported $225,000 in income. This includes a $50,000 profit on inventory sold to Investor Ltd, which Investor has not yet resold. How much investment revenue will Investor report using the equity method? How would your answer change if Investor had reported the sale of inventory to Machines?

25. What accounts appear in the consolidated financial statements that are not present in either the parent’s or the subsidiary’s financial statements? Explain each item. What accounts always disappear from the unconsolidated financial statements?

26. Equity income, and consolidated income, is usually lower than one would predict by simply adding the investor’s income and the pro-rata share of the investee’s income. Why does this happen?

27. Under what circumstances is an investment reclassified from held-to-maturity to available-for-sale? What are the ramifications of the transfer? How is the transfer accounted for?

28. Under what circumstances is an investment reclassified from available-for-sale to held-to-maturity? How is the cumulative other comprehensive income amount accounted for?

29. Under what circumstances is an investment reclassified from significant influence to available-for-sale?  How is the transfer accounted for?

30. In many European countries, companies are not required to consolidate subsidiaries. Why might this be the case?

Cases

Case 11-1

MacKay Industries Ltd.

MacKay Industries Ltd. (MIL) is a Canadian company that manufactures leather furniture. Sales in 20X3 were $265 million, with strong exports to the U.S. MIL is the leading Canadian manufacturer of leather furniture, and is ranked fourth in this category in the U.S. market. While MIL has, in the past, had manufacturing facilities in the U.S., difficulties in quality control and logistics have recently convinced the owner to centralize all operations in Niagara Falls, Canada. The plant employs 250 workers.

MIL is a private company. The majority of shares are held by the president and CEO, Jeff MacKay, who inherited the business from his father. The firm had been founded by Mr. MacKay’s grandfather. The remainder of the shares are held by members of the MacKay family. MIL has substantial long-term bank financing in place, secured by company assets and the personal guarantees of Jeff MacKay and key family members.

MacKay himself is a graduate of Harvard Business School and is well regarded in the industry. He focuses on marketing and strategy, and usually leaves operations to his production managers, all of whom receive a bonus based on overall company profits. 

You, a professional accountant in public practice, review the annual financial statements of the company, prepare the tax returns, and provide advice on a wide range of issues, including financing, tax, personnel and accounting policy.

You have been asked to look at the investment portfolio of MIL, and comment on appropriate accounting. Mr. Mackay is aware that rules have recently changed in the investments area, and he’d like a summary of how his investments should be accounted for.

Investments can be summarized as follows:

1. Short-term investments

MIL has excess cash tied up in short-term investments at various times of the year.  This money is often invested in Treasury Bills, but may also be invested in common shares of public companies, if MacKay feels there is an opportunity to earn capital appreciation.

2. Hyperion

MIL bought 4,000 shares of Hyperion, an aircraft engine manufacturer, two years ago, for $43 per share. The investment is recorded at cost.  Hyperion has 490,000 common shares outstanding, of which 20,000 to 40,000 change hands annually. Mr. MacKay is a personal friend of the president and CEO of this small public company. No dividends have been declared on the shares. The most recent stock price quoted was $42. This year, market values have been in the $33 - $35 range. Mr. MacKay has stated that he would not consider selling the investment unless market values return to $43. Mr. MacKay is confident that this will be the case sometime in the next five years.

3. March Ltd.

Mr. MacKay is the sole shareholder of March Ltd., which he incorporated two years ago. The boards of directors for March Ltd. and MIL are almost identical. March is engaged in researching new imitation leather fabrics, and ways of chemically treating real leather to improve its quality. Throughout the last two years, March has spent $216,000 on these activities. All this amount is financed by MIL; Mr. MacKay himself has put no money into March Ltd. other than a token investment to create share capital. MIL reports the $216,000 as a long-term receivable. It has no stated interest rate or term, and will only be repaid when marketable fabrics are developed by March Ltd.

4. Kusak Ltd.

MIL owns a $500,000, ten-year bond issued by Kusak Ltd. Kusak is a public company and this bond is publicly traded. MIL bought the bond for $412,700, plus accrued interest. MIL will hold the bond until maturity, although if funds are needed for operating or capital purposes during that time, the bond would certainly be sold.

5. DML Corp.

MIL owns 19,975 (2%) of the voting common shares of DML Corp., a French furniture manufacturer that MacKay may use to enter the European market sometime in the future. Five years ago, MIL bought notes payable and preferred shares in the company. This year, the notes and preferred shares were exchanged for common shares pursuant to an agreement signed when the notes and preferred shares were acquired. On the exchange date, the notes and preferred shares had a book value of $175,000 and this value was used to record the common shares. Their market value was indeterminable on that date because the securities were never traded. Common shares, thinly traded over the counter, have sold for $7 – $9 in the last 12 months. The exchange was recorded at book value.

At year-end, the most recent trading price was $3 per share, a price that Mr. MacKay attributed to currency woes, and concerns about economic recovery in European markets. He remains convinced that the company is sound and well managed. MIL has one member on the 18-seat board of directors of DML Corp. Mr. MacKay himself attends these meetings, and reports that he is well-regarded in debate. Mr. MacKay usually takes a bilingual advisor with him, as proceedings take place in French, a language in which Mr. MacKay is not fluent. In the past year, DML reported a marginal net income; the company has never declared dividends.

Required:

Prepare a report summarizing investment accounting policies as they apply to MIL’s investments.

Case 11-2

Jackson Capital Inc.

Jackson Capital Inc. (JCI) is a new private investment company that provides capital to business ventures.  JCI’s business mission is to support companies to allow them to compete successfully in domestic and international markets.  JCI aims to increase the value of its investments, thereby creating wealth for its shareholders.

Funds to finance the investments were obtained through a private offering of share capital, conventional long-term loans payable, and a bond issue that is indexed to the TSX Composite.  Annual operating expenses are expected to be $1 million before bonuses, interest, and taxes.

Over the past year, JCI has accumulated a diversified investment portfolio.  Depending on the needs of the borrower, JCI provides capital in many different forms, including demand loans, short-term equity investments, fixed-term loans, and loans convertible into share capital.  JCI also purchases preferred and common shares in new business ventures where JCI management anticipates a significant return.  Any excess funds not committed to a particular investment are held temporarily in money market funds.

JCI has hired three investment managers to review financing applications.  These managers visit the applicants’ premises to meet with management and review the operations and business plans.  They then prepare a report stating their reasons for supporting or rejecting the application.  JCI’s senior executives review these reports at their monthly meetings and decide whether to invest and what types of investments to make.

Once the investments are made, the investment managers are expected to monitor the investments and review detailed monthly financial reports submitted by the investees.  The investment managers’ performance bonuses are based on the returns generated by the investments they have recommended.

It is August 1, 20X2.  JCI’s first fiscal year ended on 30 June 20X2.  JCI’s draft balance sheet and other financial information are provided in Exhibit I.  An annual audit of the financial statements is required under the terms of the bond issue.  Potter & Cook, Chartered Accountants, has been appointed auditor of JCI.  The partner on the engagement is Richard Potter.  You, CA, are the in-charge accountant on this engagement.  Mr. Potter has asked you to prepare a memo discussing the significant accounting issues raised.

Required:

Prepare the memo requested by Mr. Potter.

EXHIBIT I
JACKSON CAPITAL, INC.

DRAFT BALANCE SHEET
As of 30 June 20X2

Assets       (in thousands of dollars)

Cash and marketable securities





$  1,670

Investments (at cost)







  21,300

Interest receivable







         60

Furniture and fixtures (net of accumulated amortization of $2)

         50









$23,080
Liabilities
Accounts payable and accrued liabilities




$       20

Accrued interest payable






       180

Loans payable








  12,000










$12,200

Shareholders’ equity
Share capital








  12,000

Deficit









   (1,120)











  10,880











$23,080
JACKSON CAPITAL INC.

SUMMARY OF INVESTMENT PORTFOLIO

As at 30 June 20X2


Cost of

Investments                                                                                                               investment
15% common share interest in Fairex Resource Inc., a company listed on the

TSX Venture Exchange.  Management intends to monitor the performance of

this mining company over the next six months and to make a hold/sell decision

based on reported reserves and production costs.                                                 $3.8 million

25% interest in common shares of Hellon Ltd., a private Canadian real estate

company, plus 7.5% convertible debentures with a face value of $2 million,

acquired at 98% of maturity value.  The debentures are convertible into common

shares at the option of the holder.                                                                          $6.2 million

5-year loan denominated in Brazilian currency (reals) to Ipanema Ltd., a Brazilian

company formed to build a power generating station.  Interest at 7% per annum is

due semi-annually.  75% of the loan balance is secured by the power generating

station under construction.  The balance is unsecured.  The Brazilian currency 

is unstable, as is the Brazilian political situation.                                                $8 million


50,000 stock warrants in Tornado Hydrocarbons Ltd., expiring 22 March 20X4.

The underlying common shares trade publicly.                                                       $1.3 million

JACKSON CAPITAL INC.

CAPITAL STRUCTURE

As at 30 June 20X2

Loans payable
The Company has $2 million in demand loans payable with floating interest rates, and $4 million in loans due 1 September 20X6, with fixed interest rates.

In addition, the Company has long-term 5% stock indexed bonds payable.  Interest at the stated rate is to be paid semi-annually, commencing 1 September 20X2.  The principal repayment on 1 March 20X7 is indexed to changes in the TSX Composite as follows:  the $6 million original balance of the bonds at the issue date of 1 March 20X2, is to be multiplied by the stock index at 1 March 20X7, and then divided by the stock index as at 1 March 20X2.  The stock-indexed bonds are secured by the Company’s investments.

Share capital
Issued share capital consists of:

-
1 million 8% Class A (non-voting) shares redeemable at the holder’s 


option on or after 10 August 20X6                                                           $7 million

-
10,000 common shares                                                                            $5 million


                                                                                                              (CICA, adapted)

Case 11-3

Major Developments Corp.
Major Developments Corp. (Major) is a publicly traded company operating primarily in the real estate sector. Major has a March 31 year-end. In 20X5, Major reported revenues of $704 million and after-tax income of $118 million. The company buys and sells commercial real estate properties, invests in various securities in the real estate industry, and manufactures commercial elevator components.

Major’s common share price climbed steadily from its IPO, in 20X0, until 11 July 20X5. On that date, Bouchard Securities Inc. (BS) released a research report on Major that attracted considerable market attention. The report contained the following statements:

It is our contention that in 20X5, Major clearly violated Canadian generally accepted accounting principles (GAAP), as set out in the CICA Handbook. We feel the accounting is wrong, not just aggressive.

Major’s accounting for two real estate loans violates GAAP. The company consolidates the assets and results of two corporations to whom it has granted loans when it does not own any shares in these companies.

Major owns 48% of the shares of Rely Holdings, a company that lost $750,000 in its most recent fiscal year. The investment is valued at over $29 million. This makes no sense, since Major bought about half of these shares for $5 million in 20X5. The investment is clearly overvalued.

We feel that Major is overvalued and has poor prospects.

Major’s stock had been trading in the $15-16 range but immediately dropped to around $9. BS profited from the decline in the stock price because it held a significant short position in Major’s stock. Within four days, lawyers working for Major launched a legal action against BS, claiming damages plus a full retraction of all statements made.

BS’s legal counsel is now examining various courses of action. To help prepare for the case, BS’s legal counsel has hired you, CA, to provide a report on the validity of each of the parties on the disagreements. They need to be briefed fully in order to properly advise BS. You have obtained some information from Major’s 20X5 annual report (see Exhibit 1). Major’s lawyers have provided the information in Exhibit 2.

Required:
Prepare a report for Bouchard Securities Inc.’s legal counsel.

[CICA, adapted]

Exhibit 1

Extracts from Major’s 20X5 Annual Report

Note 1: Accounting Policies

The consolidated financial statements include the accounts of Major and its majority owned subsidiaries and commencing prospectively in 20X5, the accounts of companies in which Major has no common share ownership, but to which it has advanced loans that are currently in default. The equity method is used for investments in which there is significant influence, considered to be voting ownership of 20% to 50%.

Note 6: Loans in Default

Major granted loans to two related companies, Skyscraper Inc. and Wenon Corporation, on 18 August 20X0 that are now in default, and have been in default since 20X2. These loans are secured by a first charge on residential real estate buildings, which Major has the legal right to repossess. Major has the intention of such legal action in 20X6. Accordingly, the operating results and net assets associated with these properties have been included in these financial statements. 

Note 14: Investments




20X5

     20X4

    Rely Holdings Inc.



       $29,640,000
$25,000,000

In 20X5, Major purchased an additional 25% interest in Rely Holdings Inc. for $5 million. Major now owns 48% of Rely Holdings Inc.

Exhibit 2

Extracts from Information Provided

by Major’s Lawyers

Major has a legal opinion that two loans are in default (see Item A below), and a third-party accounting opinion (see Item B below) that this default permits consolidation of those loans.

Item A

“In my opinion, the loan to Skyscraper Inc. and the loan to Wenon Corporation are in default as of 1 February 20X2, under the terms of default of the respective loan agreements, dated 12 August 20X0.  The lender has the right under law and contract to repossess these properties, for the purposes of realization of the loans.”

Matthew Krebs, Q.C.

Item B

“Based on the facts set out in the attached document, we concur that it is acceptable under Canadian generally accepted accounting principles to consolidate Skyscraper Inc., and Wenon Corporation.”

Jesse and Mitchell, 

Chartered Accountants

Assignments
((  A11-1 Investment Classification: Consider the following investment categories:

A.
Held-to-maturity investment

B.
Available-for-sale investment

C.
Trading investment

D.
Significant influence investment

E.
Control investment

F.
Joint venture

An investor company that is a public company has the following items:

1. Sixty-day treasury bill (T-bill).

2. Investment in Nortel common shares bought with idle cash in expectation that the price per share will rise.

3. Investment in Forman Co., a supplier. Forman is a supplier in some financial difficulties. The shares owned amount to 20% of the shares outstanding and allow the investor two seats on the 12-member board of directors. Forman will not be paying dividends in the near future. They are currently recording losses.

4. Investment in Gotcha.com, a dot.com marketing company. The $600,000 investment gives the company a 7.5% of the company, and one seat on an 18-member board. The shares are not publicly traded, but Gotcha has plans to go public. There are no buyers for these shares that could be quickly found, although the company often buys back its own shares if pressured by unhappy shareholders. The investment is highly speculative. Gotcha has never paid dividends.

5. Investment of $6,000,000 in Power Corp. government guaranteed bonds, 8%, bought at $6,135,000. The securities will be held until maturity.

6. Investment of $6,000,000 in Power Corp. government guaranteed bonds, 8%, bought at $6,135,000. The securities will be held until the investor needs short-term cash, or until interest rates swing and increase the price of the bonds, whichever comes first.

7. Stratos preferred shares, paying a dividend of $6 per share. The shares are not intended to be sold in the near future

8. Cygnet common shares, representing 80% of outstanding voting shares. The remaining 20% are held by one other shareholder. The 80% investor receives 80% of the dividends declared, and can appoint eight of the 13-member board of directors, including the chair. All operating, investing, and financing decisions must be unanimously agreed to by the two shareholders, or their representatives.

9. Investment in bonds, held as part of a portfolio that is actively traded to match the duration of a loan portfolio held by the investor.

Required:

Classify the items above into one of the investment categories, as appropriate. State any assumptions made.

((  A11-2 Investment Classification: For each situation below, indicate how the investment would be classified, and how it would be accounted for. Assume the investor is a public company. 

1. Strip bonds (that is, those sold without interest, or “stripped” of interest) are acquired as a temporary investment. Management expects interest rates to fall and the price of the strip bonds to increase significantly over the coming year.

2. Investment in $500,000 of ten-year bonds, intended to be held to maturity, An investment in bond, intended to be held to maturity, was sold last year because interest rate fluctuations made the market price attractive.

3. Common shares are bought in a small, family-owned business. The investor is the only non-family shareholder. The shares constitute 20% of the voting shares and the investor has one member on an eight-member board of directors, all of the rest of who are members of the family investor group. Market values for the shares are not available as they are never sold.

4. A mining property is exchanged for 60% of the voting shares in a company formed to develop the mining property. The remaining 40% of the shares are held by a mining company who will contribute equipment and expertise to physically mine the site. All decisions regarding operations and financing must be agreed to by both shareholders.

5. Common shares are bought in a large public company, whose shares are broadly held and widely traded. The investor owns 5% of the voting shares, and is the largest single shareholder. The shares will be held for a long time period, waiting favourable market price appreciation.

6. Common shares are bought in a large public company whose shares are broadly held and widely traded. The investor owns 45% of the voting shares, puts eight people on a 20-member board of directors, and generally has its way in operating, investing, and financing policy of the investee.

7. Common shares are bought in a small, family-owned business. The investor is the only non-family shareholder, but sits on the family-controlled board. The investor also allows the company to use patented production processes, for a fee, a right not previously granted to any other company, and provides $5,000,000 in long-term loans to the investee.

8. To invest idle cash, common shares are bought in a large, public company, a tiny fraction of the outstanding common shares. The share price appreciated after sale, but the investor is convinced that significant additional price appreciation is probable. Therefore, the shares were not sold when cash was needed; the company borrowed from the bank instead, using the shares as collateral.

((   A11-3 Investment Classification: As of 31 December 20X5, Austin Holdings Ltd.  (a public company) holds a number of investments in the securities of other companies:

1. Austin holds $8,000,000 in bonds of RJR Ltd. These bonds will mature in 20X10. Austin intends to hold these bonds to maturity.

2. Austin holds 15% of the voting shares of Broxit Manufacturing Ltd. Austin has two members on the 10-member board of directors, and has extensive inter-company transactions with Broxit.

3. Austin holds a $1,000,000, 10% bond that matures in twenty years time. Austin will sell this bond if the market price is attractive, or if money is needed for planned expansion.

4. Austin owns 4% of the outstanding common shares of Development Corp., a company whose shares are thinly traded on the over-the-counter market. Austin would like to sell their shares, but no buyer has been found at the price that Austin is determined to realize.

5. Austin owns .5% of the common shares of ABC Ltd., public company, held for short-term capital appreciation.

6. Austin owns 30% of the common shares of Phone Sales Ltd. The remaining shares are equally divided among three other investors. Each investor has two representatives on the eight-member board of directors. All strategic decisions to date appear to have been suggested and decided by the Austin representatives on the board of directors; other representatives are quite passive and often do not attend meetings.

7. Austin owns 60% of the common shares of Info Capital Corp. The remaining shares are held by the founder, Bill Capital. The six-member board of directors consists of four members appointed by Austin, and two appointed by Mr. Capital. All decisions must be unanimously agreed to by the board members.

Required:

How should Austin account for each of the above investments? Be specific, and explain your reasoning.

(  A11-4 Cost Method - Debt Investment: The Shepard Hydrant Company purchased $50,000 face amount of Beagle Bugler 9% bonds at a price of 98.5 on 1 January 20X5. The bonds mature on 31 December 20X7, and pay interest annually on 31 December. Shepard uses the straight-line method of amortizing any premium or discount on investments in bonds. At 31 December 20X5 and 20X6, the market value of the bonds is quoted at 98 and 99, respectively.

Required:

1. Show the entry to record the purchase of the bonds.

2. Show the entry(ies) to be made on 31 December 20X5.

3. Show the entry(ies) to be made on 31 December 20X6.

4. Show the income statement and balance sheet items and amounts related to the above investment that would be reported for 20X5 and 20X6.

5. Show any additional disclosure that would be required for this investment.

(((  A11-5 Cost Method - Debt Investment WEB:  On 1 July 20X2, New Company purchased $600,000 of Old Corporation 5.5% bonds to be held to maturity. The bonds pay semi-annual interest each 30 June and 31 December. The market interest rate was 5% on the date of purchase.  The bonds mature on 30 June 20X5.

Required:

1. Calculate the price paid by New Company.

2. Construct a table that shows interest revenue reported by New, and the carrying value of the maturity, for each interest period to maturity. Use the effective interest method.

3. Give entries for the first three interest periods based on your calculations in requirement 2.

4. Construct a table that shows interest revenue reported by New, and the carrying value of the maturity, for each interest period to maturity. Use the straight-line method.

5. Give entries for the first three interest periods based on your calculations in requirement 4.

(((  A11-6 Cost Method - Debt Investment:  On 30 April 20X3, Amazon Ltd. purchased $5,000,000 of Price Ltd 6.3% bonds to be held to maturity. The bonds pay semi-annual interest each 1 May and 1 November. The market interest rate was 8% on the date of purchase.  The bonds mature on 1 November 20X7.

Required:

1. Calculate the price paid by Amazon Ltd.

2. Construct a table that shows interest revenue reported by Amazon, and the carrying value of the maturity, for each interest period to maturity. Use the effective interest method.

3. Give entries for 20X3 and 20X4 for Amazon Ltd, including adjusting entries at the year-end, which is December 31.

4. Assume that Amazon sold the bonds on 1 February 20X5, for 99 plus accrued interest. Give the entry to record interest income to 1 February, and the entry for the sale.

5. What implications would the sale have on Amazon’s ability to classify other bond investments as held-to-maturity investments? Explain.

(((  A11-7 Cost Method - Debt Investment:  On 1 July 20X4, Wyder Door Company acquired the following bonds, which Wyder intended to hold to maturity:








     Face Amount

Bond





Price
          Purchased

Flakey Cement 10% bonds, 


maturity date 31 December 20X9
101.65  
$30,000

Green Lawn 8% bonds, maturity date, 


31 December 20X6


    97.0
   
  20,000

Both bonds pay interest annually on 31 December. Premium and discount will be amortized on a straight-line basis.

Required:

1. Prepare the entry to record the investments. Accrued interest was paid on acquisition dates, as appropriate.

2. Prepare the entries to be made at 31 December 20X4.

3. Show the items and amounts that would be reported in the 20X4 income statement and balance sheet related to these investments.

4. Prepare the entries to be made on 31 December 20X5.

5. Show the items and amounts that would be reported in the 20X5 income statement and balance sheet related to these investments.

((  A11-8 Cost Method - Debt Investment:  On 1 December 20X4, the Chemical Company bought two bond investments, to be held to maturity:




Par

Interest     Interest

Maturity

Security

Value

Rate
     Payable

Date           .

A Corp. bonds

$70,000
6%
     1 Dec.

     1 June
           1 Dec. 20X7

B Corp. bonds

100,000
9%
      1 Dec.

       (annual)                1 Dec. 20X12 

Chemical’s annual reporting period ends on 31 December. At 31 December 20X4, the A Corporation bonds were selling at 98.5 and the B Corporation bonds at 105.

Required:

1. Calculate the price that Chemical would pay for each bond, and record the acquisition. The market interest rate was 8% on 1 December 20X4.

2. Construct a table that shows interest revenue reported by new, and the carrying value of the maturity, each interest period to maturity. Use the effective interest method.

3. Show the items that would appear on the 20X5 income statement and balance sheet with respect to the investments.

(  A11-9  Fair Value Method – Comprehension At the end of 20X8, CN Ltd. reported available-for-sale investments on the balance sheet as follows:

Temporary investments:

First Co common shares 


$456,700

Second Co. common shares 


  144,900

Shareholders’ equity; other comprehensive income:

First Co. shares, unrealized gain 


$ 50,100

Second Co. shares, unrealized loss 


     8,200

Required:

1. Why are the shares classified as temporary? Under what circumstances would they be classified as long-term?

2. What criteria must be met for the shares to be classified as available-for-sale? Could they, in other circumstances, be classified as held-to-maturity? Under what circumstances would these shares be trading investments?

3. What price would originally have been paid for the First Co. shares? Second Co. shares?

4. If the decline in value of the Second Co. shares was classified as an impairment, what would change about balance sheet presentation at the end of 20X8?

5. Assume a both shares are correctly classified as available-for-sale and the Second Co. loss was not an impairment. If the First Co. shares are sold for $500,000, and the Second Co. shares are sold for $145,000,what gain or loss is included in net income?  
(((  A11-10  Fair Value Method: On 1 November 20X2, Decker Company acquired the following available-for-sale investments:

· X Corporation — 500 common shares at $60 cash per share

· Y Corporation — 300 preferred shares at $20 cash per share

The annual reporting period ends 31 December. 

Quoted market prices on 31 December 20X2 were as follows:

· X Corporation common, $52

· Y Corporation preferred, $24

The following information relates to 20X3:

2 March 
Received cash dividends per share as follows: 



X Corporation, $1; and Y Corporation, $0.50.

1 October 
Sold 100 shares of Y Corporation preferred at $25 per share.

31 December 
Market values were as follows: X common, $46, and Y preferred, $26.

Required:

1. Give the entry for Decker Company to record the purchase of the securities.

2. Give the adjusting entry needed at the end of 20X2.

3. Give the items and amounts that would be reported on the 20X2 income statement, statement of other comprehensive income, and asset and equity items on the balance sheet. 

4. Give all entries required in 20X3.

5. Give the items and amounts that would be reported on the 20X3 income statement, statement of other comprehensive income, and asset and equity items on the balance sheet.

6. Repeat requirement 5 assuming that the investments are trading investments.

((  A11-11  Fair Value Method:  At 31 December 20X4, the available-for-sale investments of Bertha Company were as follows:








    Unit         Unit

Security




Shares     Cost
      Market Price

Preferred shares, $.80 dividend, Ping Corp.
   900
     $50

$47

Common shares, no-par value, Wilson Corp.
   400
       15
              17

The fiscal year ends 31 December, and these securities were all purchased during 20X4

The transactions that follow all relate to the above equity investments and to those additional investments bought and sold during 20X5.

· 2 February — Received the annual cash dividend from Ping Corporation.

· 1 March — Sold 150 Wilson shares at $22 per share.

· 1 May — Sold 400 Ping shares at $49.50 per share.

· 1 June — Received a cash dividend on Wilson shares of $3.50 per share.

· 1 August — Purchased 6,000 common shares of Dunlop Corporation at $22 per share. This investment is classified as available-for-sale.

At 31 December 20X5, the quoted market prices were as follows: Ping preferred, $48; Wilson common, $28; and Dunlop common, $24.

Required:

1. Give the entries that Bertha Company should make on 31 December 20X4, to adjust the investments to fair value.

2. Give the entries for 20X5 through 1 August.

3. Give the entries required at 31 December 20X5 to adjust investments to fair value.

4. List the items and amounts that should be reported on Bertha’s 20X5 income statement, statement of other comprehensive income, and balance sheet.

5. Repeat requirement 4 assuming that the investments are trading investments.

((  A11-12 Fair Value Method: Testco has the following securities classified as available-for-sale investments on 31 December 20X6:

(1) 3,000 shares of Y Co. common shares, with a fair value of  $70,500 and a cumulative unrealized gain of $12,000 in other comprehensive income
(2) 10,000 shares of Q Co. common stock, which have a fair value of  $546,000 and a cumulative unrealized loss of $34,000 in other comprehensive income, and 

(3) T Co. 8% bonds, $104,000 market value, purchased at par, with a $4,000 cumulative unrealized gain in other comprehensive income. 

In 20X7, the following transactions occurred:

a. A dividend of $2 per share was received on the Y Co. shares.

b. 1,000 Y Co. shares were then sold for $ 34,000, less $2,000 in commissions.

c. The annual interest was received on the T Co. bond. $3,500 of the amount received related to 20X6 and had been accrued at the end of 20X6 as interest receivable.

d. Purchased 4,000 shares of Z Co. for $53.50 per share, including commission of $1 per share.

e. Late in the year, the T Co. bond was sold for $102,500 plus $3,000 of accrued interest. A $500 commission was paid on the sale.

Market values at the end of the year: Y Co., $15 per share, T Co., $103,000, Q Co., $ 59 per share, and Z Co., $55 per share.

Required:

1. List the amounts that would appear on the income statement and the statement of other comprehensive income in 20X7 as a result of these transactions and events. 

2. List the items that would appear on the balance sheet at the end of 20X7, including both the investments and the cumulative amount of other comprehensive income.

3. Repeat requirements 1 and 2 assuming that the investments are trading investments.

((  A11-13 Fair Value Method: On 31 December 20X2, Martello Company’s portfolio of available-for-sale investments in equity securities was as follows (all purchased on 1 September 20X2):









Unit
Unit

Security



Shares


Cost
Market

Parker Corp., common shares

     50


$120
$70

Monty Corp., $2.40 preferred shares
   200


    30
  32

Bekon Corp., common shares

   400


    70
  73

Transactions relating to this portfolio during 20X3 were as follows:

· 25 January — Received a dividend cheque on the Monty shares.

· 15 April — Sold 30 Parker Corporation shares at $62 per share.

· 25 July — Received a $600 dividend cheque on the Parker shares.

· 31 July — Received a $5 per share dividend on Bekon Corporation shares.

· 1 October — Sold the remaining shares of Parker Corporation at $60 per share.

· 1 December — Purchased 100 Bisset Ltd. common shares at $23 per share plus a $300 brokerage fee. The fee is part of the cost of shares.

· 5 December — Purchased 400 Sanford Corporation common shares at $15 per share.

On 31 December 20X3, the following unit market prices were available: Parker stock, $55; Bekon Corp, $61.25; Monty stock, $38; Bisset stock, $3; and Sanford stock, $16. Martello has determined that the decline in value of the Bisset shares is a permanent impairment.

Required:

1. Give the entries that Martello Company should make on (a) 1 September 20X2, and (b) 31 December 20X2.

2. Give the investment items and amounts that should be reported on the 20X2 income statement, statement of other comprehensive income and balance sheet.

3. Give the journal entries for 20X3 related to the investments.

4. Give the investment items and amounts that should be reported on the 20X3 income statement, statement of other comprehensive income, and balance sheet.

((  A11-14 Fair Value Method WEB: During 20X2, Morran Company purchased shares in two corporations and debt securities of a third. The investments are classified as available-for-sale. Morran is a public company. Transactions in 20X2:

a. Purchased 3,000 of the 100,000 common shares outstanding of Front Corporation at $31 per share plus a 4% brokerage fee. The fee is part of the share cost.

b. Purchased 10,000 of 40,000 outstanding preferred shares (non-voting) of Ledrow Corporation at $78 per share plus a 3% brokerage fee. The fee is part of the share cost.

c. Purchased an additional 2,000 common shares of Front Corporation at $35 per share plus a 4% brokerage fee. The fee is part of the share cost.

d. Purchased $400,000 par value of Container Corporation, 9% bonds at 100 plus accrued interest. The purchase is made on 1 November; interest is paid semi-annually on 31 January and 31 July. The bond matures on 31 July 20X7.

e. Received $4 per share cash dividend on the Ledrow Corporation shares.

f. Interest is accrued at the end of 20X2. 

g. Fair values at 31 December 20X2: Front shares, $34 per share, Ledrow, $82 per shares. Container Corporation bonds, 98. 

Required:

1. Give the entries in the accounts of Morran Company for each transaction.

2. Show how the income statement, statement of other comprehensive income, and balance sheet for Morran Company would report relevant data concerning these investments for 20X2.

3. Repeat requirements 1 and 2 assuming that the investments are trading investments.

((  A11-15 Impairment Snelgrove Corporation purchased a $567,800 investment in the common shares of Wood Corporation on 15 July 20X5. Snelgrove was speculating that the value of the Wood common shares might increase dramatically when a major contract bid was accepted. Unfortunately, the bid was rejected, and Wood shares declined in value to $350,400 by the end of 20X5. Snelgrove continued to hold the investment throughout 20X6 and 20X7, waiting for positive developments that would increase share value. The aggregate market value at the end of 20X6 was $360,500 and, for 20X7, $367,100. The shares were finally sold in 20X8 for $380,900.

Required:

1. Assume that the shares are available-for-sale, and the decline in value in 20X5 was considered an impairment. List the accounts and amounts that would appear on the income statement, statement of other comprehensive income, and balance sheet for 20X5 to 20X8, inclusive. 

2. Assume that the shares are trading investments, and list the accounts and amounts that would appear on the income statement and the balance sheet for 20X5 to 20X8, inclusive. Why is impairment not an issue for trading investments?

3. What criteria must be met for a decline in value of an available-for-sale investment to be considered permanent? What accounting treatment is given to an impairment?

4. When the market value of an investment, written down because of an impairment, subsequently increases, is the increase in value recorded? Explain.

(  A11-16 Reclassification On 31 December 20X2, Woolfrey Company’s investments were as follows:








Carrying 
Comprehensive

Available-for-sale investments


Value

Income (cumulative)

Logan Corp., common shares

    
$120,000
$  44,700 gain

Norman Corp., $5.00 preferred shares
  316,000
      5,000 gain

Luciano Corp., 8% bonds, 

     $275,000 par value 

  
   271,200
    14,300 loss

Held-to-maturity investment


Cashin Ltd. 9% bonds, $500,000 par value
$511,000

Significant influence investment


Curtis Commercial Ltd.


$896,000

Woolfrey makes formal entries for reclassification.

Required:

1. On this date, the Cashin Ltd. bonds, with a current market value of $550,000 are reclassified as available-for-sale investments. Provide the entry for the reclassification. What are the ramifications of re-classification (and subsequent sale) of a held-to-maturity investment? Explain.

2. Woolfrey re-classifies the Luciano Corp. bonds as a held-to-maturity investment (assume that the transaction in requirement 1 has not taken place and this reclassification is permitted). Give the entry for the reclassification. What accounting is required for the other comprehensive income amount recognized to date?

3. Woolfrey reclassifies the Curtis Commercial Ltd. shares as available-for-sale. The market value of this investment is estimated to be $1,150,000. Record the reclassification. What accounting is required for the unrealized holding gain?

(  A11-17 Reclassification On 31 December 20X6, Kirwan Company’s portfolio of available-for-sale investments in equity securities was as follows:








Carrying 
Comprehensive

Available-for-sale investments


Value

Income (cumulative)

Goldhar Corp., common shares

 $920,000
$    34,700 loss

McKinley Corp., common shares

   669,700
    113,500 gain

Held-to-maturity investment


Walsh Ltd. 7% bonds, $300,000 par value
$297,000

Significant influence investment


Orr Ltd.




$1,456,000

Required:

1. Explain what the carrying value for each investment represents.

2. What was the original cost of each of the available-for-sale investments?

3. Kirwan reclassified the held-to-maturity investment to available-for sale on this date, when its market value was $316,000. Explain how the reclassification will be reflected in the financial statements.

4. Kirwan re-classifies the Orr common shares as available-for-sale investments when the market value is $1,568,500. What accounting is required for this reclassification?

(  A11-18 Basket Purchase of Securities: On 1 December 20X4, Voss Company purchased stock in the three different companies listed below for a lump sum of $114,000, including commissions. They will be held as long-term investments. 

N Corporation, common shares, 300 shares.

O Corporation, preferred shares, 400 shares.

P Corporation, common shares, 500 shares.

At the time of purchase, the shares were quoted on the local over-the-counter stock market at the following prices per share: N common, $100; O preferred, $120; and P common, $84.

Required:

1. Give the entry to record the purchase of these investments. Record each stock in a separate account and show the cost per share.

2. How would your response to requirement (1) change if there was no market value available for the P Corporation common shares?

(  A11-19 Investments and Foreign Currency: On 14 June 20X4, Jackson Ltd purchased 40,000 shares of Hardy Ltd. for U.S. $2.15 per share, plus U.S. $2,400 in commissions and fees. The shares were held as an available-for-sale investment. On this date, the exchange rate was $1 U.S. = Cdn. $1.34. The account was settled with the broker on 1 August 20X4, when $1 U.S. = Cdn. $1.29.

On 1 July 20X4, Jackson bought a U.S. $100,000 five-year bond at face value, when the exchange rate was $1 U.S. = Cdn. $1.31. They paid cash on the acquisition date. There was no accrued interest. They plan to hold this bond until maturity.

At 31 December 20X4, Hardy shares had a quoted market value of US $3.05 per share, the bonds were still selling at par, and the exchange rate was $1 U.S. = Cdn. $1.28.

Required:

1. Provide journal entries to record the acquisition of the Hardy shares on 14 June, and payment to the broker in August. Brokerage fees are part of the investment cost.

2. Provide the journal entry to record purchase of the bond on 1 July.

3. Explain the 31 December 20X4 adjustment that must be made for the shares (for market value), and for bonds, because of the exchange rate change.

((  A11-20 Equity Method: On 1 January 20X4, JR Company purchased 400 of the 1,000 outstanding common shares of RV Corporation for $30,000. The equity method will be used to account for the investment. At that date, the balance sheet of RV showed the following book values:

Assets not subject to depreciation 

$ 40,000*

Assets subject to depreciation (net)

$ 26,000**

Liabilities




$ 6,000*

Common shares 



$ 50,000

Retained earnings



$ 10,000

 * Book value is the same as market value.

** Market value $30,000; the assets have a 10-year remaining life (straight-line depreciation).

Required:

1. Give the entry by JR Company to record the acquisition.

2. Show the computation of goodwill purchased at acquisition.

3. Assume that at 31 December 20X4 (end of the accounting period), RV Corporation reported a net income of $10,900, and declared dividends of $5,000. Goodwill has not been impaired. Prepare the entries JR Company would record.

4. Repeat requirement (3), assuming that there was an unconfirmed profit on a sale from JR Company to RV Corporation in the amount of $2,000.

((  A11-21 Long-Term Equity Investment, Cost and Equity Methods Compared, Entries WEB: On 3 January 20X4, TA Company purchased 2,000 shares of the 10,000 outstanding shares of common stock of UK Corporation for $14,600 cash. TA has significant influence as a result of this acquisition. At that date, the balance sheet of UK Corporation reflected the following: 

· nondepreciable assets, $50,000 (book value is the same as market value) 

· depreciable assets (net), $30,000 (market value, $33,000) 

· total liabilities, $20,000 (book value equals market value)

· shareholders’ equity, $60,000 

Assume a 10-year remaining life (straight-line method) on the depreciable assets. Goodwill has not been impaired over this time period.

Required:

1. Give the entries, if any are required, on TA’s books for each item (a) through (d) below assuming that the cost method is appropriate. 

a. Entry at date of acquisition.

b. Goodwill purchased — computation only.

c. Entry on 31 December 20X4 to record $15,000 net income reported by UK.

d. Entry on 31 March 20X5 for a cash dividend of $1 per share declared and paid by UK.

2. Repeat requirement (1) above assuming that the equity method is appropriate.

3. Why might TA use the cost method if they have significant influence?

((  A11-22  Equity Method: ABC Company bought 40,000 of the available 100,000 voting common shares of Tiny Corporation. This acquisition provided ABC with significant influence. ABC paid $1,450,000 cash for the investment. At the time of acquisition, Tiny had assets of $3,000,000, and liabilities of $1,700,000. Asset values reflected fair market value, except for capital assets that had a net book value of $400,000 and a fair value of $625,000. These assets had a remaining useful life of five years. After 12 months of ownership, Tiny reported net income of $526,000 and paid cash dividends of $75,000.

Required:

1. At the end of the first year of ownership, what would appear on the a) income statement and b) balance sheet of ABC? Show supporting calculations, including a calculation of goodwill.

2. Repeat requirement (1) assuming that the cost method was used. Under what circumstances would this level of share ownership be accounted for under the cost method?

(  A11-23 Equity Method: On 1 January 20X8, Father Limited purchased 40% of the common shares of Son Incorporated for $120,000. On the date of acquisition, shareholders’ equity for Son was comprised of the following:

Common shares
$100,000

Retained earnings
    70,000
Total

            $170,000

All of Son’s assets and liabilities had a fair value equal to book value, except for land, which had a fair value in excess of book value of $20,000. During 20X8, Son reported net income of $72,500 and paid dividends of $60,000. Son sold goods to Father at a gain of $5,000 late in 20X8. Father has not yet resold the goods.

Required:

1. What criterion must be met in order to account for this investment using the equity method?

2. Calculate the amount of goodwill purchased by Father as part of its investment in Son.

3. Prepare the journal entry under the equity method for Father to record investment income assuming that goodwill has not been impaired.

4. Determine the balance in the Investment in Son account at the end of 20X8, using the equity method. 

[CGA-Canada, adapted]

((  A11-24 Equity Investment, Entries and Reporting: On 1 January 20X5, Redmond Company purchased 3,000 of the 15,000 outstanding common shares of Decca Computer (DC) Corporation for $80,000 cash. Redmond had significant influence as a result of the investment, and will use the equity method to account for the investment.

On 1 January 20X5, the balance sheet of DC showed the following book values (summarized):

Assets not subject to depreciation
$ 140,000*

Assets subject to depreciation (net)
   100,000**

Liabilities



     40,000

Common shares


   150,000

Retained earnings


     50,000

 * Market value, $150,000; difference relates to land held for sale, which 

      is sold in 20X5.

**  Market value, $140,000, estimated remaining life, 10 years. Use     

      straight-line depreciation with no residual value.

Assume there is no impairment of goodwill.

Additional subsequent data on DC:








  20X5

   20X6

Net income 




$25,000
$31,000

Cash dividends declared and paid

  10,000
  12,000

Market value per share

  
         25
         26

Required:

1. Provide the investor’s entries or give the required information for:

a. Entry at date of acquisition.

b. Amount of goodwill purchased.

c. Entries at 31 Dec. 20X5 to recognize investment revenue and dividends.

d. Entries at 31 Dec. 20X6 to recognize investment revenue and dividends.

2. Are any entries needed to recognize a write-down to fair value at the end of 20X5 or 20X6? Explain.

3. Reconstruct the investment account, showing the opening and closing balance and all changes in the account.

4. How much investment revenue would be reported each year if the cost method were used? What would be the balance in the investment account? 

(  A11-25 Consolidation — Explanation WEB: In 20X1, Pepper Company bought 75% of S Company’s common shares, establishing control over the board of directors. Pepper Company used the cost method to account for its investment in S during the year, but prepared consolidated financial statements at the end of the fiscal year, which are shown in summary form:






     P Co.
      S Co.      Consolidated

Cash




$  11,000
$   12,000
$     23,000

Accounts receivable


   22,000
     19,000
       37,000

Inventory



   14,200
       9,200
       22,400

Capital assets



   83,000 
     64,300
     152,300

Investment in S Co. 


   74,000

—

—

Intangible assets


         —

—
         3,725




           $204,200
$ 104,500
$   238,425
Current liabilities 

           $  30,000
$     9,000
$     35,000

Long-term liabilities


    4,000
       2,500
         6,500

Non-controlling interest 

        —

—
       23,000

Common shares 


100,000
     60,000
     100,000

Retained earnings 


  70,200
     33,000
       73,925




          $204,200
$ 104,500
$   238,425
Sales and other revenue
          $  96,000
$  63,000
$   146,750

Cost of sales 



 80,500
    49,000
     120,500

Operating expenses


   2,500
      4,900
         7,500

Non-controlling interest

       —

          —
         2,025
Net income


          $ 13,000
$    9,100
$     16,725

Opening retained earnings

 67,200
    26,900
       67,200

Dividends 



 10,000                  3,000
       10,000
Closing retained earnings 
           $70,200
$  33,000
$     73,925
Required:

1. Why does the parent company use the cost method during the year?

2. Identify the accounts on the consolidated balance sheet that do not appear on either of the unconsolidated balance sheets. Explain their meaning.

3. Identify the accounts or amounts that appear on the unconsolidated financial statements that do not appear on the consolidated statements. Explain why they have been eliminated.

4. What is the most likely reason that the unconsolidated accounts receivables and current liabilities do not add to the balance shown on the consolidated balance sheet?

((  A11-26 Reporting a Subsidiary: Cohen Corporation, a public company, is contemplating investing in a supplier company, Abbott Metals Ltd, in order to ensure a reliable source of supply. The controlling shareholder, who owns 147,000 shares, is willing to sell to Cohen for a price of $50 per share. Summarized financial statements and additional information related to Abbott, follow:

Balance Sheet

Abbott Metals

At 30 June 20X5




Book Value
   Fair Value

Cash






$    120,000
$    120,000

Accounts receivable ($419,000 from Cohen)

      849,000           800,000

Inventory





   1,310,000
   1,800,000

Capital assets





   1,492,000           700,000

Mining properties




   6,701,000  
 11,400,000






           $10,472,000    $14,820,000
Accounts payable




$ 1,375,000
$ 1,375,000

Long-term debt




   4,990,000
   5,219,000

Common shares (250,000 shares)


   2,700,000

Retained earnings




   1,407,000






           $10,472,000

Required:

Assume Cohen buys 147,000 shares of Abbott at $50 per share. Describe the resulting reporting requirements, and describe the effect on the annual financial statements of Cohen. Include a calculation of goodwill in your response.

(((  A11-27 Comprehensive Investments: Reston Suppliers is a public company. They reported the following at the end of 20X5:

Available-for-sale investments

S Co., 20,000 shares



$448,000

R Co., $50,000 par value, 10% bond, 

due 31 December 20X7

    52,000
$        500,000

Held-to-maturity investments

T Co. bonds, $100,000 par value, 9% bond, 

due 30 June 20X8 (straight-line amortization of the discount)    $      96,750

V Ltd., 45,000 shares, equity method




      $ 2,578,900

Other comprehensive income

Unrealized holding gains ($2,000 related to R Co. bonds 

and $13,000 related to S Co.)




$15,000

The following transactions and events took place in 20X6:

a. Dividends received, S Co., $1 per share, V Ltd., $3 per share.

b. Semi-annual interest was received on both bonds on 30 June.

c. Early in July, the S Co. shares were sold for $32 per share, less $3,000 in commissions.

d. 1,000 W Ltd. shares were acquired for a total of $67,000, including $500 of commissions. This is an available-for-sale investment.

e. Reston owns 30% of the voting shares of V Ltd. V Ltd. reported earnings of $450,000 for 20X6. There was $216,000 of goodwill inherent in the original purchase price, but no other fair value allocations that require adjustment. There were no inter-company transactions requiring adjustment. A goodwill impairment of $10,800 must be recorded in 20X6.

f. The R Co. bond was sold for $51,400 plus accrued interest on 1 October 20X6.

g. X Co. shares were acquired as an available-for-sale investment, 300,000 shares for a cost of $138,000, including $3,800 of commissions.

h. Semi-annual interest was received on the T Co. bond at the end of December.

i. W Co. paid a dividend of $0.40 per share.

j. Market values on 31 December 20X6: W Ltd.: $25 per share, X Co., $0.65 per share, V Ltd., $62 per share, T Co., 95. The W Ltd decline in value is considered to be an impairment.

Required:

1. List the accounts and amounts that would appear on the income statement  and the statement of other comprehensive income for the year ended 31 December 20X6.

2. List the accounts and amounts that would appear on the balance sheet for the year ended 31 December 20X6. Available-for-sale investments are temporary investments.

(((  A11-28 Comprehensive Investments: Fetch Co., a public company, had the following transactions in securities during 20X6:

a. Purchased $700,000 par value of 10% NS Power Ltd. bonds for 102.5 plus accrued interest, on 1 June 20X7. The bonds will mature on 31 December 20X11, and pay interest on 1 February and 1 August. The bonds will be held to maturity. 

b. Purchased 300,000 common shares of Talcon Ltd., a publicly traded company, as an available-for-sale investment on 16 June. The price per share was $0.75, plus a $4,500 broker commission.

c. Received the semi-annual interest on the NS Power bonds on 1 August. Premium amortization is also recorded. Use straight-line amortization.

d. On 1 October, invested $3,000,000 in Ball Ltd., a customer who was experiencing financial difficulty but had great potential. Fetch received 25% of the common shares of Ball, and was given representation on the board of directors. Fetch felt that they had significant influence with Ball. On the date of acquisition, Ball had tangible assets with a book value of $14,700,000. Liabilities were $9,600,000. All book values represented fair values, except plant and equipment with a 10-year life. For plant and equipment, book value was $6,750,000 and fair values were $7,980,000. Goodwill was not impaired in 20X6.

e. Purchased $200,000 par value of 8% Ontario Electric Ltd. bonds for 100 plus accrued interest on 1 November 20X7. The bonds will mature on 31 December 20X9, and pay interest on 1 March and 1 September. The bonds are held as an available-for-sale investment.

f. Talcon Ltd. paid a cash dividend of $0.05 per share on 1 November.

g. Ball did not declare or pay any dividends in 20X6 but reported a loss, earned evenly over the year, of $475,000.

h. Interest was accrued on 31 December on bonds, and premium/discount amortized, as appropriate.

i. Market values on 31 December: NS Power bonds, 101.5, Talcon, $0.62 per share, Ball Ltd., undeterminable, Ontario Electric bonds, 98.5.

Fetch Co. had the following transactions in 20X7 related to its investments:

a. Received the semi-annual interest on the NS Power bonds on 1 February. Premium amortization is also recorded.

b. Received the semi-annual interest on the Ontario Electric bonds on 1 March.

c. Sold the Talcon shares for $1.20 per share, less brokerage fees of $7,900.

d. Received the semi-annual interest on the NS Power bonds on 1 August. Premium amortization is also recorded.

e. Sold the Ontario Electric bonds for 99, plus accrued interest, on 1 August. There was a commission of $565 on the transaction.

f. On 1 November, purchased 16,000 shares of Vulture Corp for $5.50 per share, plus commissions of $1,650. The shares are being held as an available-for-sale investment.

g. Ball did not declare or pay any dividends in 20X7 but reported net income, earned evenly over the year, of $79,200. Goodwill was impaired in the amount of $200,000.

h. Interest was accrued on 31 December on bonds, as appropriate. Premium amortization is also recorded.

i. Market values on 31 December, NS Power bonds, 102, Talcon, $1.15 per share, Ball Ltd., undeterminable, Ontario Electric bonds, 98, Vulture Corp, $7 per share.

Required:

Provide entries for all transactions and adjustments related to investments. Include a calculation of acquired goodwill on the acquisition of Ball.

((  A11-29 Cash Flow Statement: For each of the following transactions, identify the item(s) that would appear on the cash flow statement. Identify the appropriate section (i.e., operations, investing, financing) and whether the item is an inflow or an outflow, or an add-back or deduction in operations. Assume that the indirect method of presentation is used in the operations section.

1. ABC Company reported a held-to-maturity investment of $46,000, a $50,000, 10-year bond bought at a discount in previous years. The bond pays annual interest of 7%, and $1,000 of discount amortization had been recorded in the current year.

2. Common shares were purchased for $36,000, an available-for-sale investment.

3. The common shares in (2) were revalued to $50,000 fair value at year-end, and $14,000 of other comprehensive income was recognized.

4. The common shares in (2) and (3) were sold for $60,000. A gain of $24,000 was recognized, and other comprehensive income was reduced by $14,000.

5. T-bills were purchased for $350,000, an available-for-sale investment that is considered a cash equivalent.

6. The T-bills in (4) were sold for $365,000.

7. The company owns 460,000 shares of Therion Co., over which it has significant influence. In the current year, investment revenue of $57,000 was recorded, and cash dividends of $36,000 were received.

((  A11-30 Cash Flow Statement:  The following comparative data is available from the 20X4 balance sheet of Investcorp:







      20X4

    20X3

Available-for-sale investments

$    4,950,000

$1,216,000

Long-term investments

   Investment in Tandor Ltd., at equity                 1,071,200
                  950,000

   Held-to-maturity investment in Byron 

bonds, at amortized cost

         615,000

      609,300

Shareholders’ equity:

   Other comprehensive income

Unrealized holding gains


75,900

         52,100

In 20X4, the following transactions took place, and are properly reflected in the balance sheet accounts, above.

1. Dividends of $140,000 were received from Tandor Ltd. No shares of Tandor were bought or sold during the year.

2. Available-for-sale investments, with a carrying value of $56,200 and cumulative unrealized holding gains of $21,000, were sold for $87,500.

3. Available-for-sale investments were increased to fair value at year-end.

Other “typical” transactions and entries also occurred in 20X4 that are reflected in the balance sheet accounts. (You may find it helpful to reconstruct the transactions.)

Required:

What items would appear on the 20X4 cash flow statement? Assume the operations section is presented in the indirect method of presentation.

(((  A11-31 Consolidation (Appendix): At the beginning of the current fiscal year, Poppa Co. bought 90% of the common shares of Son Ltd. for $7,350,000 cash. At that time, the book value of Son’s assets reflected fair value except for land, which was undervalued on the books by $1,200,000. Son reported $500,000 of common stock and $5,500,000 of retained earnings on this date. Financial results at the end of the current fiscal year (in thousands):









   Poppa
     Son

Cash







$   1,610
$   480

Accounts receivable




 
     8,920
  1,410

Inventory






   12,100
  1,400

Capital assets






   10,520
  1,310

Investment in Son Co.





     7,350
         0

Mining properties






0
  6,050








$ 40,500        $10,650
Current liabilities





$   8,060        $   1,400

Long-term debt





   20,900
   3,102

Common shares





     8,600
      500

Retained earnings





     2,940
   5,648







 
$  40,500        $10,650

Sales







$   49,700
$ 12,900

Cost of sales





  
     36,200
     8,100

Other expenses





     12,925
     4,552

Other revenues





          665

0
Net income






$     1,240
$     248

Opening retained earnings




       2,100
    5,500

Dividends






          400
       100
Closing retained earnings




$     2,940
$  5,648
During the year, Poppa bought $1,000,000 of goods from Son. Three-quarters had been resold at year-end. Son had recorded a $120,000 gross profit on these sales. Poppa still owed Son $800,000 at year-end. Goodwill was not impaired during the year.

Required:

Prepare a consolidated balance sheet, income statement and retained earnings statement for the current fiscal year. Round calculations to the nearest thousand.

(((  A11-32 Consolidation (Appendix): P Co. bought 90% of the voting shares of S Co. on 1 January 20X2 for $19,500,000. On that date, S Co. had shareholders’ equity of $15,900,000, including $6,000,000 of common shares. On that date, fair values of net assets approximated market values, except land that was undervalued on the books in the amount of $500,000, and depreciable capital assets that were undervalued by $1,400,000. Goodwill was not impaired in 20X2; amortizable capital assets are to be amortized over 15 years.

During 20X2, P Co. sold goods to S Co in the amount of $600,000. All these goods were resold by S Co. by the end of 20X2. S Co. sold $400,000 of products to P Co.; 1/4 had been resold by the end of the year. S Co. had recorded a $220,000 profit on the sale. P Co. still owed S Co. $375,000 at year-end.

Unconsolidated financial statements follow:

Year Ended 31 December 20X2


P Co.

S. Co.

Cash






$     1,450,000
      $       213,000

Accounts receivable




     16,300,000

3,415,000

Inventory





     28,900,000

5,900,000

Capital assets




   
   114,300,000
          11,100,000

Investment in S Co.




     19,500,000

           —

Intangible assets



       
       7,916,000

           —







$ 188,366,000
       $
20,628,000
Current liabilities




$   39,000,000
       $
2,100,000

Long-term debt


   

     80,000,000

   500,000

Future (deferred) income tax



     10,195,000

1,400,000

Common shares


   

     17,900,000

6,000,000

Retained earnings


  

     41,271,000
          10,628,000






          $   188,366,000
       $ 20,628,000
Sales





          $   240,350,000
       $ 30,600,000

Cost of sales





   170,700,000
          18,900,000

Other expenses




     42,900,000
          10,522,000

Other revenue





          405,000


—
Net income




          $     27,155,000
        $
1,178,000

Opening retained earnings

   

     30,316,000

9,900,000

Dividends





     16,200,000

   450,000
Closing retained earnings



$   41,271,000
        $10,628,000
Required:

1. Prepare consolidated financial statements as of 31 December 20X2.

2. Under what circumstances would P Co. not have to consolidate its subsidiary?

3. In what way are the consolidated financial statements superior to unconsolidated statements? Why do some feel consolidated statements are inferior?

